The Tale of Peter Rabbit

1. Peter ate lots of vegtables. a. Peter lost his shoes.
2. Mr. McGregor chased b. He got damp.
Peter. c. He felt sick.
3. Peter ran into a net. d. He had to leave his jacket
4. Peter jumped into a e. He had to go to bed and
watering can. drink tea.
5. Peter went home and did
not feel well.

6. Why can’t Peter hide in the tool shed?
a. Itis locked b. Itis full of water

7. Where does Peter go when his siblings go to pick blackberries?
a. Mr. Gregory’s garden b. home

8. Where does Peter lose his shoes?
in the cabbage and potatoes b. at the blackberry farm
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9. How do the sparrows help Peter?
a. By encouraging him b. they help him find his shoes

10.What does Mr. Gregor do with Peter’s clothes that he leaves
behind in the garden?

a. He gives them to home b. he makes them into a scarecrow



